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Class : X 

Subject – Science 

 

SOLUTIONS

1. 1. (c)  2. (c)  3. (d) 

 4. (d)  5. (a)  6. (a) 

2. 1. 5
th 

June 

 2. 25 cm 

 3. half 

 4. Mendel 

 5. Parasite 

 6. Ampere
 

3. 1. F  2. T  3. F 

 4. T  5. T  6. F 

4. 1. Basic salt 

 2. Bleaching powder (CaOCl2) 

 3. An alkali is a base dissolved in water. 

 4. Plaster of Paris 

 5. Methanoic acid 

 6. 7 

5. 1 – (d), 2 – (e), 3 – (f), 4 – (c), 5 – (b),  

 6 – (a) 

6. 1. Galvanization : Articles made of iron 

are coated with a layer of zinc. 

 2. Articles made of iron are painted to 

prevent from corrosion. 

OR 

 The symbolic expression of a chemical 

reaction in the form of an equation is 

called as chemical equation. 

e.g. NaOH(aq) + HCl(aq)  NaCl(aq)+H2O(l) 

7. To obtain metal from its oxide the 

reduction process is used 

 e.g. 22HgO 2Hg O   

OR 

 Because the disease of anemia is caused 

due to the deficiency of haemoglobin 

1. 1. (c)  2. (c)  3. (d) 

 4. (d)  5. (a)  6. (a) 

2. 1. 5
 
twu 

 2. 25 cm 

 3. vk/kh 

 4. esaMy 

 5. ijthoh 

 6. ,sfEi;j
 

3. 1. F  2. T  3. F 

 4. T  5. T  6. F 

4. 1. {kkjdh; yo.k 

 2. fojatd pw.kZ (CaOCl2) 

 3. ty esa ?kqyu'khy {kkjd gh {kkj dgykrs gSaA 

 4. IykLVj vkWQ isfjl 

 5. esFksuksbd vEy 

 6. 7 

5. 1 – (d), 2 – (e), 3 – (f), 4 – (c), 5 – (b),  

 6 – (a) 

6. 1. : yksgs ls cuh oLrqvksa ij tLrs dh 

ijr p<+k nh tkrh gSA 

 2. yksgs ls cuh oLrqvksa dks isaV djds la{kkj.k ls 

lqj{kk dh tkrh gSA 

OR 

 fdlh jklk;fud vfHkfØ;k dks lehdj.k ds :i esa 

mlds vfHkdkjd ,oa mRiknksa dk izrhdkRed 

fu:i.k jklk;fud lehdj.k dgykrk gSA 

e.g. NaOH(aq) + HCl(aq)  NaCl(aq)+H2O(l) 

7. fo?kqr vi?kVuh jklk;fud izfØ;k dk mi;ksx 

fd;k tkrk gS 

 e.g. 22HgO 2Hg O   

OR 

 jDr esa gheksXyskfcu dh deh ls ,uhfe;k jksx gks 
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which contain iron. Spinach is rich in iron 

which is used to form haemoglobin 

therefore, those patients are advised to 

each spinach. 

8. The two properties of carbon which lead 

to the huge number of carbon compound 

we see around us are : 

 1. Catenation and 2. Tetra valency 

OR 

 These are organic compounds made by 

combination of only carbon and hydrogen 

atoms. 

Ex. : Methane CH4, Benzene C6H6 etc. 

9. 1. CO2 and 2. Light 

OR 

 Heterotrophic nutrition : When an 

organism partially or wholly depend on 

other organism for his food, then such 

type of nutrition is called heterotrophic 

nutrition. 

 Ex. : Cuscuta, Fungi, Bacteria. 

10. Pollination : The process of transfer of 

pollen grains from anther of stamen 

(androecium) to stigma of pistil is called 

pollination. 

Differences between self and cross pollination : 

S. No. Self pollination Cross pollination 

1. The process 

occurs only in 

bisexual flower. 

The process may 

occur in both 

unisexual and 

bisexual flowers. 

2. The pollen 

grains of the 

flower reach to 

the stigma of the 

same flower. 

The pollen grains 

fall on the stigma 

of the other flower 

but of the same 

species. 

3. No medium is 

required for the 

transfer of 

pollen grains 

Any medium like 

air, water, insect or 

animal is required 

for the transfer of 

the pollen grains. 

OR 

 If egg is not fertilized, the lining of uterus 

break and comes out in the form of blood 

and mucus through the vagina. This cycle 

tkrk gSA gheksXyksfcu esa ykSg rRo eq[; vo;oh 

rRo gSA ykSg rRo dh deh dks iwjk djus ds fy, 

,uhfe;k ds jksxh dks ykSg rRo ;qDr ikyd [kkus 

dh lykg nh tkrh gSA 

8. dkcZu ds nks xq.k/keZ fuEu gSa ftuds dkj.k gekjs 

pkjksa vksj dkcZu ;kSfxdksa dh fo'kky la[;k fn[kkbZ 

nsrh gS & 

 1. dkczu ijek.kq J`a[kyu 2. dkcZu ijek.kq dh 

prq%la;kstdrk J`a[kyu dkcZu ijek.kqvksa dk fo'ks’k 

xq.k gksrk gSA 

OR 

 ,sls dkcZfud ;kSfxd tks dsoy dkcZu ,oa 

gkbMªkstu ls feydj cus gskrs gSa] gkbMªksdkcZu 

dgykrs gSaA 

Ex. : esFksu CH4, csUthu C6H6 etc. 

9. 1. CO2 rFkk 2. izdk'k 

OR 

 : tc ,d tho vius Hkkstu ds 

fy, iw.kZ ;k vkaf'kd :i ls nwljs tho ij fuHkZj 

jgrs gSa rks ,sls iks"k.k dks fo"keiks"kh iks"k.k dgrs gSaA 

 Ex. : vejcsy] QQw¡n] thok.kq 

10. : ijkxdks"k esa ifjiDo ijkxd.kksa dk 

tk;kax dh ofrZdkxz rd igq¡pus dh izfØ;k ijkx.k 

dgykrh gSA 

 

   

1. ;g fØ;k dsoy 

f}fyaxh iq"iksa esa gksrh 

gSA 

;g fØ;k nksuksa 

,dfyaxh ,oa f}fyaxh 

izdkj ds iq"ikas esa gksrh 

gSA 

2. iq"i jaxghu] xa/kghu 

gksrs gSaA 
iq"i jaxhu] lqxaf/kr 

gksrs gSaA 

3. bl fØ;k esa ,d iq"i 

ds ijkxd.k mlh iq"i 

ds ofrZdkxz ij fxjrs 

gSaA 

bl fØ;k esa ,d iq"i 

ds ijkxd.k viuh 

tkfr ds vU; iq"i ds 

ofrZdkxz ij fxjrs gSaA 

4. bl izdkj dh fØ;k 

esa fdlh ek/;e ;k 

lk/ku dh vko';drk 

ugha gksrh gSA 

bl izdkj dh fØ;k esa 

ok;q] ty] dhV vkfn 

ek/;eksa dh vko';drk 

gksrh gSA 

5. iq"iksa esa edjan mRiUu 

ugha gksrk gSA 

iq"iksa esa edjan mRiUu 

gksrk gSA 

OR 

 v.M ds fu"kspu u gksus 

dh voLFkk esa xHkkZ'k; dh nhokjksa ij teh ekaly 

irZ /khjs&/khjs VwVdj ;ksfu ekxZ ls :f/kj ,oa E;wdl 

ds :i esa fu"dkflr gksrh gSA bls _rqL=ko vFkok 
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takes place every month. This is called as 

menstruation. 

11. Heredity : The transmission of characters 

(or traits) from generation to generation in 

organisms is called heredity. 

OR 

 Chromosome : A thread like structure of 

nucleic acid and protein found in nucleus 

if most living cell, carrying genetic 

information in the form of genes. 

 

 Two functions of chromosomes 

1. They play an important role in heredity. 

They are responsible to protein synthesis 

in activity. 

2. New cells are produced by the replication 

of chromosomes. 

12. Reflection : The process of sending back 

the light rays which fall on polished 

surface is called reflection of light. 

Laws of reflection : 

1. The angle of reflection is always equal to 

the angle of incidence. 

2. The incident rays, reflected rays and the 

normal, all lie in the same plane. 

 

jtks/keZ dgrs gSaA 

11. : tho/kkfj;ksa esa ih<+h&nj&ih<+h 

fofHkUu y{k.kksa dk lapj.k vkuqokaf'kdrk dgykrk gS 

rFkk ;s y{k.k vkuqokaf'kd y{k.k dgykrs gSaA 

OR 

 : lHkh ;wdSfj;ksfVd dksf'kdkvksa ds dsUnzd 

esa fLFkr yEch] iryh /kkxs ds leku lajpuk,a 

ftudk vkuqokaf'kd inkFkZ dksf'kd nzO; esa Lora= 

:i ls u jgdj] dsUnzd esa dqN fof'k"V jpukvksa 

ds :i esa O;ofLFkr jgrk gS xq.klw= dgykrk gSA 

 

 xq.klw= ds nks dk;Z fufEufyf[kr gS& 

1. vkuqokaf'kdh esa egRoiw.kZ Hkwfedk fuHkkrs gSaA 

2. xq.klw= dh izfrd`frdj.k ls larfr cukrs gSa tks 

dksf'kdkvksa esa igqapdj u;s thoksa dk fuekZ.k djrs 

gSaA 

12. : izdk'k fdj.k dk fdlh lrg ls 

Vdjkdj okil vkus dh izfØ;k dks ijkorZu dgrs 

gSaA 

: 

1. vkiru dks.k dk eku lnSo ijkorZu dks.k ds 

cjkcj gksrk gSA 

2. vkifrr fdj.k] vfHkyEc rFkk ijkofrZr fdj.k lHkh 

,d gh ry esa fLFkr gksrs gSaA 
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OR 

 Magnification : Magnification produced 

by an optical device is the relative extent 

to which the image of an object is 

magnified with respect to the object size. 

It is expressed as the ratio of height of the 

image to the height of the object. 

 1Height of the image (h )
m

Height of the object (h)
  

13. If a parallel beam of light is incident on a 

lens and if after refraction all rays come to 

a point then this kind of lens is called 

converging lens. 

OR 

 The radius of a spherical shell whose part 

is the spherical mirror is called radius of 

curvature of spherical mirror. It is denoted 

by R. 

14. The rate of consumption of electric 

energy is called electric power or in other 

words rate of less of energy in an electric 

circuit is called Electric power. 

OR 

 The resistance of a conducting wire of 

unit length and unit area of cross-section 

is called specific resistance of that 

conductor. 

Specific resistance ()  

 

Resistance R×Area of cross-section (A)

Length of conductor ( )


 

15. When electric current flows through a 

conductor then a magnetic field is 

developed around it. It is called magnetic 

effect of current. 

OR 

 Flemming’s left hand rule : If we stretch 

out the fore finger, middle finger and the 

thumb of the left hand in such a way that 

they are mutual perpendicular then if the 

fore finger points the direction of 

magnetic field the middle finger shows 

the direction of electric current then the 

thumb will point the force acting on the 

conductor. 

OR 

 : fdlh izdkf'kd ;qfDr }kjk mRiUu 

vko/kZu og vkisf{kd foLrkj gS ftlesa Kkr gksrk gS 

fd ml ;qfDr }kjk cuk izfrfcEc] fcEc dh vis{kk 

fdruk xquk vkof/kZr gSA 

 vko/kZu (m) = 
(h')

(h)

ifz rfcEc dh Å¡pkb Z

fcEc dh Å¡pkb Z

  

13. ;fn izdk'k dk ,d lekUrj izdk'k iqat ysal ls 

viorZu ds i'pkr~ ,d fcUnq ij dsfUnzr gks tkrk 

gS rks og ysal vfHklkjh ysal dgykrk gSA 

OR 

 xksyh; niZ.k ftl xksyh dks'k dk Hkkx gksrk gS] 

ml xksyh; dks'k dh f=T;k dks xksyh; niZ.k dh 

oØrk f=T;k dgrs gSaA bls R ls O;Dr djrs gSaA 

14. fdlh fo|qr midj.k esa fo|qr ÅtkZ ds O;; dh 

nj dks ml midj.k dh fo|qr 'kfDr dgrs gSaA 

OR 

 ,d ehVj yacs rFkk ,d oxZ ehVj vuqizLFk dkV 

okys pkyd rkj dk izfrjks/k] ml pkyd rkj ds 

inkFkZ dk fof'k"V izfrjks/k dgykrk gSA 

fof'k"V izfrjks/k () 

  = 
× fof'k"V ifz rjks /k vuiq zLFk izfrPNns  dk {ks=

pkyd dh yca kbZ

 

15. fdlh pkyd esa /kkkjk izokfgr djus ij mlds pkjksa 

vksj pqacdh; {ks= mRiUu gksus dh ?kVuk fo|qr /kkjk 

dk pqacdh; izHkko dgykrh gSA 

OR 

 ;fn ck;sa gkFk dh rtZuh] e/;ek rFkk vaxwBs dks 

bl izdkj QSyk,¡ dh rhuksa ,d&nwljs ds yEcor~ 

gksa vkSj rtZuh pqEcdh; {ks= dh fn'kk rFkk e/;ek 

/kkjk dh fn'kk iznf'kZr djs rks v¡xwBk pkyd ij 

yxus okys cy dh fn'kk dks iznf'kZr djrk gSA 
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16. The region around a magnet in which its 

influence can be experienced is called 

magnetic field. 

OR 

 It is a device in which the wire of an alloy 

of high resistance and low melting point is 

used which controls the maximum limit of 

electric current through a circuit. 

 It is used to prevent the electrical 

appliance by short circuiting and 

overloading. 

17. The complete sum of the outer conditions 

around, inside which an organism or a 

community survives is called 

environment. 

OR 

 Organisms which depend both on plants 

and animals for their nutrition are called 

omnivore organism. Ex. : Man, dog etc. 

18. Exothermic reaction : Such reactions in 

which energy (heat) is liberated are called 

exothermic reaction. 

e.g. CH4(g) + 2O2(g)  CO2(g)+2H2O(g)+Heat 

 Endothermic reaction : Such chemical 

reaction in which heat is absorbed are 

called endothermic reaction. 

e.g. 3 22Pb(NO ) (s)   

  2 22PbO(s) 4NO (g) O (g)   

19.  

OR 

 

16. fdlh pqEcd ds pkjksa vksj og 

{ks= tgk¡ pqEcdh; cy dh vuqHkwfr gksrh gS] 

pqEcdh; {ks= dgykrk gSA 

 

OR 

 mPp izfrjks/k ,oa de xyukad dh feJ/kkrq ls cuh 

pg ;qfDr tks fdlh ifjiFk esa gksdj tkus okyh 

/kkjk dh vf/kdre lhek dks fu;af=r djrh gS] 

fo?kqr ¶;wt dgykrh gSA 

 bldk mi;ksx y?kqiFku ,oa vfrHkkj.k ls fo|qr 

midj.kksa dh j{kk djrk gSA 

17. pkjksa vksj dh mu ckgjh n'kkvksa dk lEiw.kZ ;ksx] 

ftlds vUnj ,d tho ;k leqnk; jgrk gS] 

i;kZoj.k dgykrk gSA 

OR 

 ,sls izk.kh tks vius iks"k.k ds fy, isM+&ikS/ks ,oa 

tUrqvksa nksuksa ij fuHkZj jgrs gSa] lokZgkjh izk.kh 

dgykrs gSaA mnk- euq";] dqÙkk bR;kfnA 

18.  : ftl jklk;fud vfHkfØ;k 

esa mRiknksa ds lkFk Å"ek Hkh fudyrh gS] og 

Å"ek{ksih vfHkfØ;k dykrh gSA 

e.g. CH4(g) + 2O2(g)  CO2(g)+2H2O(g)+Heat 

 : ftl jklk;fud vfHkfØ;k 

eas Å"ek (ÅtkZ) dk vo'kks"k.k gksrk gS] og 

Å"ek'kks"kh vfHkfØ;k dgykrh gSA 

e.g. 3 22Pb(NO ) (s)   

  2 22PbO(s) 4NO (g) O (g)   

19.  

OR 
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S.No. Lymph Blood 

1. It is a kind of 

white tissue. 

It is red fluid 

tissue. 

2. R.B.Cs are not 

found. 

R.B.Cs are present 

in this tissue. 

3. Less protein are 

present. 

Proteins are present 

in sufficient 

quantity. 

4. Large amount of 

excretory 

products are 

present. 

It does not contain 

excretory products, 

and fit hey are 

found then they are 

present in very 

little quantity. 

20. Long sightedness : If a person can see far 

objects clearly and can not see the nearby 

objects clearly. It can be removed by 

using convex lens of suitable power. 

 

Hypemetropic eye 

  

OR 

 

21. The reaction between an acid and a base 

which gives salt and water is called as 

neutralisation reaction. 

e.g. 1. NaOH(aq) + HCl(aq)  

    NaCl(aq) + H2O(l) 

   

1. ;g ,d jaxghu 

nzoh Ård gSA 

;g xgjs yky jax dk 

nzoh; Ård gSA 

2. blesa yky jDr 

df.kdkvksa dk iw.kZ 

vHkko jgrk gSA 

blesa yky jDr 

df.kdk,a mifLFkr 

gksrh gSA 

3. blesa izksVhu dh 

ek=k de gksrh gSA 
blesa izksVhu dh ek=k 

vf/kd gksrh gSA 

4. blesa vif'k"V 

inkFkZ vf/kd gksrs 

gSaA 

blesa vif'k"V inkFkZ 

de ek=k esa gksrs gSaA 

 

 

20.  : tc nwj dh oLrq,a Li"V :i ls 

fn[kkbZ nsrh gS] fdUrq fudV dh oLrq,a Li"V :i 

ls fn[kkbZ ugha nsrh gksa] rks bl izdkj ds nks"k dks 

nwj n`f"V nks"k dgrs gSaA 

  

   
OR 

 

21. tc fdlh vEy rFkk {kkj dh vfHkfØ;k gksrh gS] 

ftlesa yo.k ,oa ty izkIr gksrk gS] bls 

mnklhuhdj.k vfHkfØ;k dgrs gSaaA 

e.g. 1. NaOH(aq) + HCl(aq)  

    NaCl(aq) + H2O(l) 
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 2. Ca(OH)2(aq) + H2SO4 (aq)  

    CaSO4 +2H2O 

OR 

S.No. Acid Base 

1. Acids are sour 

in taste 

Bases are bitter in 

taste. 

2. Acids change 

the colour of 

blue litmus into 

red. 

Bases change the 

colour of red litmus 

into blue. 

3. The solutions of 

acids contains 

H
+
 ions. 

The solution of 

bases contain OH
–
 

ions. 

4. Acids give 

hydrogen when 

they react with 

metals. 

Bases give salt and 

hydrogen gas when 

react with metals. 

22. (i) Ethanoic acid : 

  

 (ii) Hydrosulphide H2S : 

  

 (iii) Propanone CH3COCH3 : 

  

 (iv) F2 :  

OR 

 The molecules of soap are such that in 

which two ends have different properties 

one is hydrophilic i.e., it dissolves in 

water while the other end is hydrophobic 

 2. Ca(OH)2(aq) + H2SO4 (aq)  

    CaSO4 +2H2O 

OR 

   

1. vEy Lokn esa 

[kV~Vs gksrs gSaA 
{kkj Lokn esa dM+os 

gksrs gSaA 

2. vEy uhys fyVel 

dks yky jax esa 

ifjofrZr dj nsrk 

gSA 

{kkj yky fyVel dks 

uhys jax esa ifjofrZr 

dj nsrk gSA 

3. vEy ty esa ?kksyus 

ij gkbMªksfu;e H
+
 

vk;u nsrs gSaA 

{kkj ty esa ?kksyus ij 

gkbMªksfDly  OH
–
 

vk;u nsrs gSaA 

4. vEy /kkrq dkcksZusV 

ds lkFk fØ;k dj 

CO2 xSl eqDr 

djrs gSaA 

{kkj /kkrq dkcksZusV ds 

lkFk fØ;k dj CO2 

eqDr ugha djrs gSaA 

5. mnk- izcy vEy 

H2SO4 

mnk- izcy {kkj 

NaOH 

22. (i) ,sFksuksbd vEy % 

  

 (ii) H2S : 

  

 (iii) izksisuksu CH3COCH3 : 

  

 (iv) F2 :  

OR 

 mÙkj&lkcqu ds v.kq esa nks çeq[k Hkkx gksrs gSa blesa 

,d tyjkxh vkSj nwljk ty fojkxh Hkkx gksrk gSA 

dkcZu J`a[kyk okyk Hkkx ty fojkxh gksrk gS 
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i.e. it dissolves in hydrocarbon. When 

soap is at the surface water and the 

hydrophobic 'tail' of soap will not be 

soluble in water and the soap will align 

along the surface of water with the ionic 

end in water and the hydrocarbon 'tail' 

protruding out of water. Inside water, 

these molecules have a unique orientation 

that keeps the hydrocarbon portion out of 

water. This is achieved by forming 

clusters of molecules in which the 

hydrophobic tails are in the interior of the 

cluster and the ionic ends are on the 

surface of the cluster. The formation is 

called a micelle. 

 Ethanol is a non-polar solvent, in it there 

is no attraction for the hydrophilic part 

hence in ethanol the micelle will not form. 

23. Differences between Artery and Vein : 

S.No. Artery Vein 

1. The walls of 

arteries are 

elastic and thick. 

The wall of the 

vein is thin and 

elastic. 

2. Lumen of the 

artery is narrow. 

Lumen of the vin is 

wide. 

3. Due to presence 

of oxygenated 

blood in the 

arteries they are 

visible as red. 

Due to presence of 

O2 in the blood in 

veins they are 

visible as blue. 

4. Valves are 

absent in 

arteries. 

Valves are present 

in the veins. 

OR 

 

tcfd vk;fud Hkkx ftlesa lksfM;e ;k iksVSf'k;e 

ijek.kq gksrk gS og ty jkxh gksrk gSA ;g tc 

ikuh tSls /kzqoh; foyk;d esa Mkys tkrs gSa rc vius 

vkosf'kr Hkkx ds dkj.k tyjkxh Hkkx ckgj ¼ty 

dh vksj½ gksrk gSA bl çdkj felsy curs gSaA 

tcfd ,Fksu‚y ,d v/kzqoh; foyk;d gSA vr% blesa 

tyjkxh Hkkx ds fy, vkd"kZ.k ugha gksrk gSA 

blfy, ,Fksu‚y esa lkcqu ?kksyus ij felsy ugha 

cusaxsA 

23. /keuh ,oa f'kjk esa vUrj 

   

1. /keuh;ksa dh fHkfÙk yphyh 

rFkk eksVh gksrh gSA 
f'kjk dh fHkfÙk iryh ,oa 

yphyh gksrh gSA 

2. /keuh dh xqfgdk ladjh 

gksrh gSA 
f'kjk dh xqfgdk pkSM+h 

gksrh gSA 

3. /kefu;ksa esa vkWDlhdr̀ jDr 

gksus ds dkj.k ;g yky 

fn[kkbZ nsrh gSA 

f'kjkvksa ds jDr esa CO2 
dh mifLFkfr ds dkj.k ;g 

uhyh fn[kkbZ nsrh gSA 

4. /kefu;ksa esa dikV ugha ik;s 

tkrs gSaA 
f'kjkvksa esa dikV ik;s tkrs 

gSaA 

5. /keuh ds vk;ru esa dksbZ 

ifjorZu ugha gksrkA 

f'kjkvksa dk vk;ru 

ifjofrZr gksrk jgrk gSA 

6. /keuh esa jDr :d&:d 

dj vf/kd nkc ls izokfgr 

gksrk gSA 

f'kjkvksa esa jDr /kheh xfr 

ls fujarj de nkc ls 

izokfgr gksrk gSA 

OR 

 




